EAGRAROBREERT — 2 N— IBISH —F

202155R7H (£) 2mAdtE5H

Bl 20m5051cEy 77 v~ 285 A 5%

EZS

=

‘ [RERBE] — | & (%) 1800M &

[A~&£] 1 7 4,000,000  ~ 23 :1,600,000 33 :1,000,000H 4 3 :600,000H ~ 5 j& :400,000 H

& %B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
s = t 7 | ERIAH 1:54.2 6-4-1-1 |39.8| — 1 4 IRER (Aat)

1 4| E-E=HIT« * 57.0 =) (_833; () HRHS
R:HTIRSA4T B:INTsrTH— IR

N TSN AlGER :54. —6-5- . - EHHEE (iE)

5 3| KT HLRSLY # o7 el 1(524)6 5-6-5-3 | 39.7 3 (5+318) St b

L:ZM)—bEPR BEATTUHY— BEH Fi
. 4 7 | RES 1:54.9 4-5-4-4 | 40.0| — 7 517 | B (818)

3011 hLhh 57.0 (1 1/2) +2) $5ARET]

R:oA7% B:XTVTFry b HET77—L
S o6 | WisEL 1:55.0 12-12-12-10{ 39.1 | — 6 454 | E2EN (fRAE)

4813 TYUF~ 57.0 (7€) G | w0 Ly

A= X124 B:7IATA VTR BB 2Y K
i 4 5 | HTEHER 1:55.1 2-3-6-6 | 40.1| — 9 510 |2 ARTh (#A18)

5 g|I—~1ozA 57.0 (7€) (-3 |BHEM ”
R:A—LIFLAA B:HRINAZH—I HET7— L
=5y S 4 8 | mEY 1:55.1 1-1-2-2 | 40.5| — 4 541 | fEEERAK (RATR)

e o 55/ —¥ 57.0 FE<) Ca) | ) IS F—#5TLy KR
L:hrexy BTUHENTT KT 7 — L

5 . . 4t ¢ | FHARA 1:55.4 8-8-7-7 |40.1| — 8 522 | RIMIR (KH)
7 9 XL RXIWNWT L T7 57.0 1 1/2) +3) T(’Fék) YSTLy KI5 T53714T7>
STANWNTTFY— B TF—LAA EvJLy RT7—L4
= > 6 | AHEE 1:55.5 10-10-10-9 | 40.0 | — 2 499 | EEERAX (fR4R)
gl7lio| =72 +3 “ % &0 o Gy |BEFL-SY )
LN=VI754 B:FAHIEU Y b HBET7—L
RN JIEORE :56. -13-14- . — mAtE (KHF)

9l5l 7| ZLTULTE1Y 6 i (12516/20) 13-13-14-14/ 39.6 10 (5_036) it

R:Z2bhArd)a—> B:ILFYLIELT o BE
= 3 o7 | A 1:56.0 9-9-9-8 |40.5| — 13 | 511 | KE&EE (i)

10/51 8 77 M) AH— 57.0 (74%) (3) | BRFEL

R:T7yv3IZ—L B:UFEYITLT1 ke
o . i o4 | EEHZ 1:56.4 11-11-11-12| 40.5 | — 12 | 517 |HEAN (#:48)

11 1007/ 73> 57.0 @ (+3) | B) HET7—L

LN = BILTAZXAHLyY b HET7— L
5 S o7 | WOER 1:56.7 14-14-13-13| 40.3 | — 14 | 537 |HEAN (#:13)

ol 5| vveory v 57.0 0 Lo |ENEE

X140 B:I7SANIRAYR [Ev e ]
o= : 4 o4 | SEHEK 1:56.9 7-7-8-11 | 41.5| — 5 504 | SeILBSEE (/K)

13/ 8|14| 7N=> FU— L 57.0 o o |8 w2702

R:F>T7A47 BTFPRZCTI7FR ARANT 7 =L

. = RBEX — =g = = ILTEZ (#iE)
w711 LA XN TA b 'O 55.0 (shib) e " (5+162) Fﬁﬁgfu
LNNVTSY BixAh—ZNL KBRS

® 1 —F—@EBIERL

1T=7r= 2,6,11,1,3,4,14,9,8,12,10,13,7,5

23—+ — 2,11,6,4,1,3,14,9,8,12,10,13,7,5

Ja=7= 4,2,11,1,3,6,9,14,8,12,10,13,5,7

43—+ — 4,2,3,1,11,6,9,8,12,13,14,10,5,7

[ N5

B 4 250M 714K 3-4 310 e E 3-3 740M JEE 1-3-4 2,360

B B 4 120M 1-4 6404 e B =3 670M JEE 4-3-1 7,980

3 1909 1-3 1,010 B = 3-4 700M
1 280M B 4-3 1,240

ARICOVWTRDTEEERROODE. TR LIV,




